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Question Number : 1 Question Id : 2012981741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the extension for a Java class file?
Options:

| w Java

> o .class
5 % JVI

4w Jdk

Question Number : 1 Question Id : 2012981741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Java FATH FISe T UFHUH 4T 27
Options:
| % Java

5 « .class
3 % Jvm

som 19K

Question Number : 2 Question Id : 2012981742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In DES, which properties make the cipher very strong?

Options:
.« Avalanche effect and completeness

- % Avalanche effect and incompleteness
« Newton effect and completeness

3

, % Newton effect and incompleteness



Question Number : 2 Question Id : 2012981742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 3 Question Id : 2012981743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In any situation. over-modulation results in;

Options:
1 « distortion

> % Eexcessive carrier power
- u Weakening of the signal

4 » signal amplification

Question Number : 3 Question Id : 2012981743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 4 Question Id : 2012981744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
A 3-D surface chart that displays only the lines in MS Excel is called a

Options:
1 « Wireframe

~ % Area
= % DBar

4 % XY

Question Number : 4 Question Id : 2012981744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 5 Question Id : 2012981745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is known as a portable computer?

Options:

, % Minicomputer

- % Mainframe computer
5 » Desktop

4 v PDA

Question Number : 5 Question Id : 2012981745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 6 Question Id : 2012981746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The feature in Windows 7 allows you to install updates on a regular basis.

Options:

, % Edit Update

» % Recall Update
5  Automatic Update

4 # Tum On Update

Question Number : 6 Question Id : 2012981746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 7 Question Id : 2012981747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ALU is the abbreviation of:
Options:



1 Arithmetic Logic Unit

> u After Logic Unit
= % Almost Last Unit

4 # Arithmetic Left Unit

Question Number : 7 Question Id : 2012981747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. v Arithmetic Logic Unit (3/&e1fora atfdhe 3%13)
. « After Logic Unit (FTi+ Ife % am)

. » Almost Last Unit (srsfeT sfas gfae)

, » Arithmetic Left Unit (3/eTordra a5 $aT3)

Question Number : 8 Question Id : 2012981748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel. which of the following represents the inequality operator?

Options:

}.oW s
28 =
z B ==
4. <>

Question Number : 8 Question Id : 2012981748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 2012981749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How does the keyboard’s Backspace key work?

Options:
1 « It erases characters to the left of the cursor.

- » It erases characters to the right of the cursor.

= # It moves the cursor to the left.

4 % It erases the character above the cursor.

Question Number : 9 Question Id : 2012981749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 2012981750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an input device?

Options:
1 # Scanner

> % OCR

s ® OMR



4  Projector

Question Number : 10 Question Id : 2012981750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. ® ﬁ-ﬁ'{
, % OCR

- » OMR

4 v SetE

Question Number : 11 Question Id : 2012981751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The language that is mainly used in commercial activities is:

Options:
; % BASIC

> « COBOL
5 % PASCAL

4 % LOGO

Question Number : 11 Question Id : 2012981751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % BASIC

. w COBOL
- # PASCAL

. » LOGO

Question Number : 12 Question Id : 2012981752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
A similar group of files saved together under a common name is called a‘an:

Options:
1 & file

> « folder

= % collection

4 ® array

Question Number : 12 Question Id : 2012981752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1% ER

5 % Sholaeld
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Question Number : 13 Question Id : 2012981753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When sending an e-mail, the line describes the contents of the message.

Options:
1 % To

>  Subject

= % Content

4 % Cc

Question Number : 13 Question Id : 2012981753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:



1 ® To
-  Subject

= % Content

4 % Cc

Question Number : 14 Question Id : 2012981754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the network topology that supports bi-directional links between each possible node.

Options:
, = Ring

~ % Star
= % Tree

4 « Mesh

Question Number : 14 Question Id : 2012981754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 15 Question Id : 2012981755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is used to view information on the web.

Options:
1 # Cable modem

> « Web browser



= % Domain name server

4 » Hypertext viewer

Question Number : 15 Question Id : 2012981755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 16 Question Id : 2012981756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
offers administrators a robust method of controlling data access using filters and claims.

Options:
, % Dynamic authentication control

- % Static access control

5  Dynamic access control

, » Dynamic authorisation control

Question Number : 16 Question Id : 2012981756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 2012981757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

SMTP stands for:

Options:

1 % Server Mail Transfer Protocol

5 of Simple Mail Transfer Protocol

= % Small Mail Transmission Protocol

4 % Short Mail Transmission Protocol

Question Number : 17 Question Id : 2012981757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

. » Server Mail Transfer Protocol (W3T A g=H®L SIcishion)

. » Simple Mail Transfer Protocol (f&uer #d gw@wT IShie)
- « Small Mail Transmission Protocol (FATe A&l TIHTAT Herhior)

, = Short Mail Transmission Protocol (2E Fel FrHHYF HerHien)

Question Number : 18 Question Id : 2012981758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The difference between main memory and magnetic storage is that memory is and storage is

Options:
4 temporary, permanent

> % permanent, temporary

5 % slow, fast



, = affordable. expensive

Question Number : 18 Question Id : 2012981758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 19 Question Id : 2012981759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Special effects used to introduce slides in a presentation are called:

Options:
1 % Effects

®

- % Custom Animations

5 « Iransition

&,

4 % Present Animations

Question Number : 19 Question Id : 2012981759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 2012981760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The extension of an Excel file is:
Options:

1 % xml

> % xxl

3  Xls

4 ® XXS

Question Number : 20 Question Id : 2012981760 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Excel WIScT & UFHCAA FaT ¢72
Options:
1 ® xml

o ® xxl

2 o XIS

Question Number : 21 Question Id : 2012981761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What is the easy way to apply varied animations to test on slides?

Options:
. % Apply effects in the custom animation text pane.

> of Apply an animation scheme.
5 » Customise bullets with animated clip art.

4 % Apply transitions.

Question Number : 21 Question Id : 2012981761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 22 Question Id : 2012981762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the Active Worksheet option in the Print dialog box do?

Options:
1 % Prints the entire workbook.

- % Prints the currently open workbook.

3 % Prints the selected cells.

4 Prints only the selected worksheet.

Question Number : 22 Question Id : 2012981762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 23 Question Id : 2012981763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which process checks to ensure the components of the computer are operating and connected properly?

Options:



| « Booting

- % Processing
5 # Saving

, » Editing

Question Number : 23 Question Id : 2012981763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 24 Question Id : 2012981764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The minimum disk space required to install Windows 2000 is:

Options:
| % 4GB

> « 2GB
s % 3GB

4 % 1GB

Question Number : 24 Question Id : 2012981764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % 4 GB




., v 2 GB
- = 3 GB

% 1GB

Question Number : 25 Question Id : 2012981765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is a file?

Options:

, = Afileis a section of main storage used to store data.

R i
A file 1s a collection of information that has been given a name and is stored in secondary memory.

5 % Afileis the part of a program that is used to describe what the program should do.

4 % Afile is another name for floppy disk.

Question Number : 25 Question Id : 2012981765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 26 Question Id : 2012981766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Netscape Navigator is an example of

Options:
, % print server

> « web browser



= % web server

4 % Proxy server

Question Number : 26 Question Id : 2012981766 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 27 Question Id : 2012981767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tab row enables the users to keep web pages open in one browser window.

Options:
, % onlyone

» % only two

5  multiple

4 = only four

Question Number : 27 Question Id : 2012981767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T ITFg 3TETHRAT FI Th F34T &= &7 39 9 @ H HEH F4ar ¢

Options:

| % %had Th

5 % el a

5 v TR



4 % Hael IR

Question Number : 28 Question Id : 2012981768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which test is generally camied out to determine as to how many times an intruder has tried to gain access to a user's
network?

Options:

, w History logs

» u Performance logs

5 o Review security logs

4 ® Loginreviews

Question Number : 28 Question Id : 2012981768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 29 Question Id : 2012981769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A narrow-width dot-matrix printer has columns.

Options:
;. ® 100

2« 80



Question Number : 29 Question Id : 2012981769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 2012981770 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to change the font size in MS PowerPoint?

Options:
, % CTRL +SHIFT+S

> % CTRL+F
- « CTRL + SHIFT + P

4 % CTRL +UP ARROW

Question Number : 30 Question Id : 2012981770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » CTRL + SHIFT + S

> » CTRL + F
- v CTRL + SHIFT + P

. # CTRL + UP ARROW

Question Number : 31 Question Id : 2012981771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to minimise a workbook window to an icon in MS Excel?



Options:
, » CTRL+ SHIFT _

> « CTRL +F9
- % SHIFT +F9

4 % CTRL+ALT +F9

Question Number : 31 Question Id : 2012981771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % CTRL + SHIFT _

> v CTRL + F9
- % SHIFT + F9

. # CTRL + ALT + F9

Question Number : 32 Question Id : 2012981772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save an Adobe Pagemaker document?

Options:
| ® pdf

> % apmd

5  pmd

4 w pmd.a

Question Number : 32 Question Id : 2012981772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| pdf



, % apmd

3.0 PTd

4 % pmd.a

Question Number : 33 Question Id : 2012981773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Microsoft PowerPoint 97 to 2003 presentations?

Options:

o » PPIX

Question Number : 33 Question Id : 2012981773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
, % bpts

s v PPt

Question Number : 34 Question Id : 2012981774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to merge a document in MS Word?

Options:
i % ALT+SHIFT+F

> v ALT +SHIFT +N



5 % ALT -+ SHIFT + X

4 % ALT+SHIFT+K

Question Number : 34 Question Id : 2012981774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % ALT + SHIFT + F
> v ALT + SHIFT + N
2 % ALT + SHIFT + X

. % ALT + SHIFT + K

Question Number : 35 Question Id : 2012981775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to print a merged document in MS Word?

Options:
i % ALT+SHIFT+F

> v ALT+SHIFT +M
5 % ALT+SHIFT+N

4 % ALT +SHIFT +D

Question Number : 35 Question Id : 2012981775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % ALT + SHIFT + F

» » ALT + SHIFT + M
2 % ALT + SHIFT + N

. # ALT + SHIFT + D



Question Number : 36 Question Id : 2012981776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to edit a mail merge data document in MS Word?

Options:
, % ALT+SHIFT+M

> % ALT+SHIFT +N
- v ALT+SHIFT+E

4 % ALT+SHIFT+K

Question Number : 36 Question Id : 2012981776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Word 7 #ar faerar 321 g&arest & §uifed & & o Foir g a1 g2

Options:

. % ALT + SHIFT + M

, # ALT + SHIFT + N
2 ¢ ALT + SHIFT + E

. = ALT + SHIFT + K

Question Number : 37 Question Id : 2012981777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to insert a line break in MS Word?

Options:
1 + SHIFT + ENTER

> % Spacebar
= % Esc

4 % Tab

Question Number : 37 Question Id : 2012981777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Word # T qfed s wiFafed &&= & v =it gds= #=r g2

Options:




. v SHIFT + ENTER

5 % Spacebar

2 # Esc

4 ® Tab

Question Number : 38 Question Id : 2012981778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to insert a page break in MS Word?

Options:
1 % Tab

-~ % Spacebar
- « CONTROL +ENTER

4 % INSERT +P

Question Number : 38 Question Id : 2012981778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Word & t& gv3 fauw afFnfaa s & v i garss #a7 g2

Options:

1 % Tab

-~ % Spacebar

- v CONTROL + ENTER

. % INSERT + P

Question Number : 39 Question Id : 2012981779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to close a window?

Options:
; # CTRL+F2

> % CTRL +F3



s « CTRL +F4

4 % CTRL +F7

Question Number : 39 Question Id : 2012981779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fordr et &t g Ft & forw e A 4w e
Options:

. » CTRL + F2
, = CTRL + F3
s ¢ CTRL + F4

4 % CTRL + F7

Question Number : 40 Question Id : 2012981780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
By using which tab can you add cross-references in an OpenOffice Writer?

Options:
1 #® View

- « Insert
= ® Edit

4 % File

Question Number : 40 Question Id : 2012981780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
&g & #7 39T FF T OpenOffice Writer H FH-HSH IS FFhd 87

Options:
1 % View

> « Insert
z = Edit

, = File



Question Number : 41 Question Id : 2012981781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following font options is NOT available in PowerPoint Font dialog box?

Options:

, w Character Spacing

- % Strikethrough

3 « Emboss

4 % Text Shadow

Question Number : 41 Question Id : 2012981781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
PowerPoint & Wiec SO a0 H &F5d H T Hid T Biec [dcT el aidT 82

Options:
, » Character Spacing

- w Strikethrough

= « Emboss

4 % Text Shadow

Question Number : 42 Question Id : 2012981782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How many keys are available on a US Traditional Keyboard?

Options:
;% 104

> % 108
3 & 101

4 % 120

Question Number : 42 Question Id : 2012981782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
7. oH. TORE FrEE # e stoar g £

Options:



. % 104
., % 108
2 ¢ 101

4% 120

Question Number : 43 Question Id : 2012981783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The positioning hole of a CD, in the middle. is mm in diameter.
Options:

1 ® 25

Question Number : 43 Question Id : 2012981783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

CD ¥ mew g ¢ &7 =u1g mm 2T gl
Options:

2« 15

Question Number : 44 Question Id : 2012981784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

virus is permanent, which dwells in the RAM memory.
Options:
1 « Resident

-~ % Multipartite



= % DBoot

4 % Macro

Question Number : 44 Question Id : 2012981784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T TR § S b A & war B

Options:

1@ 3 E LD

Question Number : 45 Question Id : 2012981785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the measurement of things such as fingerprints and retinal scans used for security access.

Options:
1 « DBiometrics

-~ » Computer security

5 » Network security

4 % Smart terminals

Question Number : 45 Question Id : 2012981785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TET Tg9 & T 9ged R 3R e woha Sl = & A9 g

Options:

1 ¥ ill£i|:ii§E|!|
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Question Number : 46 Question Id : 2012981786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

is used for purposes such as storing photos on Facebook, or files in online collaboration services, such
as Dropbox.

Options:
; « Object storage

> % Unit storage

- u Full storage

4 w Localstorage

Question Number : 46 Question Id : 2012981786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

&7 ITUAT Facebook 9T WIET a1 Dropbox SHHT HTaees TEOWT T3 H WIEAr o O0fET Fie
¥ e fem =T

Options:
TE] (3fTesiae) TIRU

i 4
2“‘ : E

quT HIE0T

z # o

, » T TEEeT

Question Number : 47 Question Id : 2012981787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How can vou make a standard document that can be used as a sample document?

Options:
, w» Thedocument saved in pdf format.

- % Make a copy of documents.

= #% To be saved on online drives.



i The document saved as Template.

Question Number : 47 Question Id : 2012981787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T T AHF ST H8 T Tehod g 1A FHAT STAaA & & H 399197 AT S Fehel 872
Options:

| % pdf 9T H FEST AT SEFAESA

. w CEATEST @ TH 9ig gAC

. x HAGTSH 3159 T Hea o Hehell g

. v GEATES H TFIRIT & T H HeeA 0

Question Number : 48 Question Id : 2012981788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
shows items from different row arca fields (o one column and vses indentation to distinguish between the items
from different fields.
Options:
|« Compact Form

-~ % Design Form

z % Tabular Form

4 #% Outline Form

Question Number : 48 Question Id : 2012981788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T =Y 7 fafies oftw o O wmedt # Rmrar § it BfEew o W ament F 9 A
T ¥ v sfoe & woe =0 B

Options:
. « Compact Form

-, % Design Form

=z % Tabular Form



4 % QOutline Form

Question Number : 49 Question Id : 2012981789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many versions of USBs were available till 2005?
Options:

1 ® 2

Question Number : 49 Question Id : 2012981789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2005 I USB & faae T&0T 39elsy o7
Options:

1_2.32

Question Number : 50 Question Id : 2012981790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a USB version?

Options:
1 ® 2.0
A 1.1

z ® G |

4 ¢ 4.1

Question Number : 50 Question Id : 2012981790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T § ¥ #i9 @ USB TEaxoT 8t &7
Options:

Question Number : 51 Question Id : 2012981791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which feature of Internet Explorer 11 enables developers of web applications to deliver smooth animation and 3D
eraphics?
Options:
1 % Animated GL

> #% 3DGL
3 « Web GL

» Outlook Web App

Question Number : 51 Question Id : 2012981791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Internet Explorer 11 1 FiF o fehwar, 37 ot ¥ 399wy = e oty & 30 oisss
T £ giaw &= B

Options:

, % Ulades GL
» = 3D GL
- v Web GL

4 » OQOutlook Web App

Question Number : 52 Question Id : 2012981792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In Internet Explorer 11, which toolbar is designed primarily for web developers to debug code?

Options:



Fl1 toolbar

,_.
u

F10 toolbar

ra
u

F9 toolbar

Ll
®

4 « F12 toolbar

Question Number : 52 Question Id : 2012981792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Internet Explorer 11 &% FlF 3 3901 8 A5 a9 @@ #1F & #5907 &7 ¥ v e &
T 27

Options:

| % F11 39eRI0T 987
5 % F10 3907 981
z ® FQ'EEEHIH qﬁ

4_JF123'=47=|1‘-1'UTq3°r

READING COMPREEHERNSION
Section Id : 201298180
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298180
Question Shuffling Allowed : Yes

Question Id : 2012981793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension



Majuli

Majuli is the largest riverine island in the world and is located
within the Brahmaputra River in the Indian state of Assam. The
river, its tributaries, the wet lands and the chaporis along the island
of Majuli make it the largest mid-river delta system in the world.

It is a pollution-free freshwater island. The island was formed due
to course changes of the Brahmaputra and its tributaries over a long
period.

Majuli had originally a total area of about 1250 km? but is now
reduced to about 577 km? due to continuous erosion caused by the
Brahmaputra. With a length from east to west of about 90 km and
width from north to south of 16 ki, it is a rich natural and cultural
heritage site, and its water bodies attract plenty of birds, both local
and migratory. Unlike most rivers in India, Brahmaputra is referred
to as a ‘masculine’ river, perhaps due to its awe-inspiring size and
flow.

With its origins in the glaciers of Tibet in the Himalayas where it is
known as Tsangpo, the river flows south-west through Assam as
Brahmaputra, and then through Bangladesh as Jamuna (not to be
confused with the Yamuna river, one of the famed trivenis in
India). With a total length of over 1800 miles and average depth of
125 feet, it is an important source of irrigation and transportation.

Majuli island is about 200 km east from Assam’s capital city,
Guwahati, and is accessible by ferries from the town of Jorhat.

Sub questions

Question Number : 53 Question Id : 2012981794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is NOT one of the names of the
river being described above?

Options:
1« Yamuna

- % Jamuna

5 % Tsangpo



, % Brahmaputra

Question Number : 54 Question Id : 2012981795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the current area of the island?
Options:

{ % 1250 km?

> % 200 km?

=z % 1800 miles

Question Number : 55 Question Id : 2012981796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the distinctive feature of the river noticed by the
writer?

Options:

, % Itisvery large and fast.

> « It is referred to as a masculine river.

- % Many birds are attracted to it.

4, % Itoriginates in Tibet.

Question Number : 56 Question Id : 2012981797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
How was the island of Majuli formed?

Options:

, w By the melting of glaciers

-~ % By continuous erosion of soil
- By the changing course of the river

4, » By ferries passing towards Jorhat



Question Number : 57 Question Id : 2012981798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is special about the Island of Majuli?
Options:

, « Itisthe largest mid-river island.

- % Itisanatural and cultural heritage.
- % It provides a pollution-free environment.

4 % It has several tributaries around it.

Question Id : 2012981793 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 2012981794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T 7 0 #iF @ 3 309 7 & AH H T TH
el 87

Options:

AHAT
TR ]

EERE

4 B 2

Question Number : 54 Question Id : 2012981795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T FHT TAATT STHST FAT §7?

Options:

. % 1250 =7 faeieiex
- % 1800 #Hrer

4 v 577 T AT

Question Number : 55 Question Id : 2012981796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
oI CART SET IS FET T FEF Lwar Fa g7

Options:

< 7g 5gd F3 HR A9 2

zlwsﬁwaﬁmm%i

- 9 TR TET R B HFHET g



4 % mﬁﬁﬁﬁﬁﬁ%‘l

Question Number : 56 Question Id : 2012981797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HIel ST 1 fAH0T HH gam?

Options:

| % TARRT & e ¥
, » WAd FET &ROT
. o TCT I ST & feRn se o F

4 % SREIE & AR HAlFH & J

Question Number : 57 Question Id : 2012981798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ATl SATT T WIH a1 F4T 87

Options:

. » T% T 31 Feg-AEr @ B

. » TE Tpiae 3R FEplch eRIET 2

_— a8 W—ﬂﬂ'd Sldla<Vl Agla <l %-|

., « 38 T 3R Rfees were afear 2

OUANTITATIVE AFPTITULE
Section Id : 201298181
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 201298181
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012981799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approximate value should come in place of the question mark (7) in the following expression? (You are NOT

expected to calculate the exact value.)
Il +3="7

Options:
1 ® 29

Question Number : 58 Question Id : 2012981799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT wifEa & v fEs () F FUTH 9T HFAAT Hed F1 §A7 TEU? (H9H FelF A
$r ToTAT FA £ 3T A6 )

2942 = 64 = 3 =7
Options:

1 ® 29‘
- ® 32
3 ¢ 21

4 ® 1?

Question Number : 59 Question Id : 2012981800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ratio of the students in schools A. B and C is 5 ; 4 ¢ 7. If the number of students in the school is increased by 2004,
25% and 20% respectively. What would be the new ratio of the studants in schools A B and C?

Options:
i ® NI T
o> o 30:25:42

= % 30:20:49



4 % Cannot be determined

Question Number : 59 Question Id : 2012981800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A. B 3T C Remrest F Rewfint o e 5 4 0 7 € o Femewt & et & e A
FAE: 20%, 25% T 20% #r 3fF @h § & A, B 3R C fagmeet F femfiEt & am smew w=m
CACIIE

Options:

T i
>« 30 : 25 : 42

s % 30 : 20 : 49

Question Number : 60 Question Id : 2012981801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following number series?
210,209, 213, 186, 202, ?

Options:
, ® 138

Question Number : 60 Question Id : 2012981801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o g s@er & wd REa (?) & T W 47 geme?
218, 209,213, 186. 202. 72

Options:

. % 138

> 17



z % 177

4 % 327

Question Number : 61 Question Id : 2012981802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Kamya purchazed an irem for T 46,000 and 30ld it at a loss of 12%. With that amount, she purchased another item and
sold it at a gain of 1 2%, What was her overall gain/loss?

Options:
1 « Loss of ¥ 662.40

- % Profit of ¥ 662.40
- % Loss of ¥642.80

4 % Profit of T 642.80

Question Number : 61 Question Id : 2012981802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FEOT A T 46,000 F v IEg WS AN 3W 12% Fr i w0 a9 R 3w o @ 3w ow A o g
wiEr #T 5% 12% F 719 9T 497 IS THT AEEE FT T

Options:

. » T 66240 # gl
o = % 662.40 FT =M
. » % 642.80 # gifa

. % % 642.80 T FTA

Question Number : 62 Question Id : 2012981803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Two containers have a mixture of milk and watsr in ratios of 4 : 3 and 5 : 2, respectively. If the contents of both the
containers are transferred to a third container, the ratio of milk and water would become:

Options:
5.8 50

> % 5:4



44 915

Question Number : 62 Question Id : 2012981803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
g ot F gu A et @ By s 40 3 AR 5 2 F ame F woy g b1 of o ot &
ﬁmﬁﬁmmwﬁmﬁmmwmmﬁqxaﬁ?mmmmm

Options:
1 #5:9
> % b4
=% 3:2
w8 i D

Question Number : 63 Question Id : 2012981804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If |x| + x+y =10 and x + |y| — y = 12, then the value of (10x + 53) is:
Options:

1 o 50

Lh

2_335

z ® 60

Question Number : 63 Question Id : 2012981804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
IR x| +x+y =10 g3 x+|yl—y=12 B 3 (10x + 5)) F HeZT FT grM?
Options:



GEMERAL MENTAL ABILITY AND REASONING

Section Id : 201298182

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 201298182
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2012981805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Study the following arrengement carcfully and answer the question given below;
IY2=S5£cEGMo7SHP2ELS@WQI3IRCDE

How many such letters are there in the above arrangement each of which is either immediately followed by a moumber or
mmmediately preceded by a symbol. but NOT both?

Options:
1 # Four

> % Five
3 #® Six

Question Number : 64 Question Id : 2012981805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT ey & SAEE 7 R 5uF AN BE T v & I €
JYZ2=S5E:tEGMo7SHPOKLE@WQl1IRZRCDE

FoiEs eqara # fode U8 e § e giE T Ue BT § I7 gid A1 OF Wi §, dlee g
Al 77

Options:

1_&3Eﬂ-\r
g_wtl'i?l'

3 % OF



4 v 3o

Question Number : 65 Question Id : 2012981806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Study the following series carefully and answer the question given below:

ABCDEFGHIJKLMNOPQRSTUVWXYZ

Which letter is the eighth to the right of the third letter from the left of the second half of the series?

Options:
1 ® V

E_QW

3. ¢ X

Question Number : 65 Question Id : 2012981806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FrAd 4TeT # euATSF 9¢ AR @F A T T WA F 3w 3
ABEBDEFGHIJELMNOPGRSTHNYWXY Z
T & ZEI FYAET & IC F I HEW F AT 3R 71SAT 7ER HiF T 87

Options:

1%-$V
guW
z ¢ X

4% Y

Question Number : 66 Question Id : 2012981807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Equivocation : Meaning
Options:
1 % Refinement : Innovation



> # [Iravesty : Insight

- u Geniality : Amiability

4 « Feint : Intention

Question Number : 66 Question Id : 2012981807 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

37 famred &1 =9e & [ wedl & @ 9 §Faey g 39 & QT av aeg gvR & A g

aFod . 9O
Options:

1_@3%:%’9@?
o % FBE A
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For the following analogy, find two wards (T and IT) refated to the words alveady given, one word for each of two related
pairs
[ Horse D Bray (L
L (1) Weigh (21Heof (3} Ride (4) Baddls
il (A) Ralay (B) Ponv  (C) Wagon (D) Donkey
Options:
1 ® 1A

P 1D
T R 2D

g4 W 3
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Four words have been given. out of which three are alike in some manner, while one is different. Choose out the odd
e,

Options:
1 « Feathers

> % Tentacles
=z % Scales

4 = Pseudopodia
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A word is represented by ooly one set of numbers as given in any one of the alternatives. The sets of numbers given in
the alvernatives are represented by too classes of letters as in the two given matrices. The columns and rows of Marrix I
are numberad from O to 4 and those of Matrix IT from 2 to 9. A letrer from these matrices can be represanted first by its
row and then the column mumber; e.g. ™ can be represented by 14, 21, ete.; A can be represented by 20, 34, elc.
Similarly you have to identify the correct set for the word NEST.

Matrix 1 Matrix IT

2 | 1 ) ] q a3 1 ¢ E 2
a ¥ | A [ o | [l [ I H | n (]
1 a F A ] 1] H 5 E T B
2 A M o i F 7 2] T 5 E H
3 a | F i M A B E H T ] b
4 1} : i & F i g T g E H B

Options:

| 02.56,55.59
» w 14.67.66.67
5 % 21767776

. % 33.85.88.86
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The Caledonian orogenic movements are related to the geological history of:

Options:
, % the late Jurassic and early Cretaceous period

- o the late Silurian and early Devonian period

5 % the middle Triassic period

, = the late Devonian and early Carboniferous period
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Which of the following is /are considered a policy rate(s) in the hands of RBI?

1. Repo Rate

2. SLR

3. Inflation
Options:

- u Only2

4  Onlyland2
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Who considered the right to constitutional remedies as the very “heart and soul” of the Indian constitution?

Options:
1 % MK Gandhi

> % JL Nehru
= « BR Ambedkar

, » Dr. Rajendra Prasad
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Formic acid is obtamned from:
Options:

1 « red ants

> u fats

5 % Vvinegar

4 % orange
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As of February 2019, who is the only Indian to have been awarded the Nobel Prize for literature?

Options:
, w» Ramdhari Singh Dinkar

-~ % Bankim Chandra Chatterjee

-  Rabindra Nath Tagore

4 % R. K. Narayan
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Which Indian school of art featured white marble. long legs and slender-framed human beings as central characters?
Eings, princes and places plaved prominent roles in this an.

Options:



1 « Amaravati School of Art
> % Gandhara School of Art
% % Mathura School of Art

4 % Pahari School of Art
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Healthy lifestyle is the need of the hour. While it carmne easy to the earlier generations, these days people find it
hard to follow the same because of their fast paced life. People are working hard, partying harder and doing
everything apart from taking care of their health. Thus, it is time we must take our health seriously. & few
healthy habits can help you develop a healthy lifestyle over a period of time. Here are some of the healthy
hakits that must be followed. Follow a healthy diet plan. Following a healthy diet plan is of utmost importance
wher you are trying to live a healthy life. Begin by following a healthy diet plan that includes all the essential
rmicronutrients and steer clear from junk food. Wake up early. Most people are unable to indulge in exercise,
hawve breakfast and spend few quality moments with their loved ones in the morning. This is solely because
they do not walke up on time. Make it a habit to wale up early in the morning so that you have enough tirme to
accormodate all these tasks. Exercise. Squeeze in at least half an hour each day to indulge in physical exercise
of your choice. You can choose to go for a walk, swirm, practice yoga, deep breathing or do anything that
interests you. This helps in eliminating stress and ansiety. Sleep on tirme. Since you have to walke up early, it is
essential to sleep on time. You must ensure that you take at least seven to eight hours of sleep every day. Put
your mobile aside. You should make it a habit to keep your phone aside while you are working o enhance
productivity. Also lkeep vour phone at a distance whern you are at horme and spend quality time with your
family. The rays emitted by mobile phones are harmful it is thus suggested to keep it away especially when
vou sleep at night. Connect with positive minds. It is always good to be friends with people who bring in
positivity in your life and stay away from those who indulge in negative talks. Also socialize with those who
follow a healthy lifestyle rather than those who regularly indulge in unhealthy habits such as smoking or
drinking. Hawve your meals on time. As important as it is to follow a healthy diet plan, it is equally essential to
hawe your meals on time. Make sure you do not skip your breakfast or any other meal of the day. Have your
meals at the right intervals. You rmust make an effort to deliberately inculcate these healthy habits in your
daily routine, in order to attain good physical and mental health.
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